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e =(TR.+ TR.) - TC=( P. O.+ P- O.)-TC
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* TC=/(Q)=1(Q11Qy)

- TR=TR,+ TR,=P, Q,+ P, Q,

« MC=MC =MC,

- MC= MR,
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RT, = P,.0,
RT, =80 -2.50,)0, © RT, =800, -2.50,°
MRlzaRT1<:> MR , =80 - 50,
00,
MR , = MC < 80 - 50, = 40
Q1:8
P, =8 —-2.5(8)
P, = 60
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RT , = P,.0,
RT , = (180 - 10 Q0,), & RT, =18 Q, -10 Q,°
MRZ:aRT2<:> MR , =180 - 20 O,
00,
MR , = MC < 180 — 20 O, = 40
Qz=7
P, =180 —10 (7) Q= Q; + Q)=8+7=15 :ciuasll 1<) saall =
P, =110

7 = (RT, + RT, )~ CT ol ”

RT = (PO, + P,O,)=(60.8+110.7) < RT =1250
CT =50 +40(15)< CT =650
7 =1250 — 650 < 7 = 600






